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QL | (@ Identi li V2+h =2 Marks 5
Cldentify  limy_,, CLol
C1
(b) Marks 5
Find the first order derivatives of the function y = (x + i) (x — i +1) g|1—01

Q2 | (@ |.A dynamite blast blows up a heavy rock with launch velocity of 160m/sec reaches a Marks

hight of s = 160t — 16t2 ft after t sec, 10
CLO2
()  How high does the rock go c2
(i) Find the velocity and speed of the rock when it is 256 ft above the ground
on the way up and down
(iii) ~ find the acceleration of the rock at time 5sec
Q3 | () | Does the curve y = x* — 2x? + 2 have nay horizontal tangent if so where ? Marks
10
CLO1

C1
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